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GRWS 2:3
Directions:  Read the textbook pgs. 66 – 71; then answer the following Qs IN COMPLETE SENTENCES in your spiral.

1. After the Revolutionary War ended, how did the 2nd Continental Congress set up a plan for government?

2. What were the 3 most serious problems with the Articles of Confederation (Hint: NOT in the box)?

3. What was the central issue which cause Shay’s Rebellion?

4. To what effect did Shay’s Rebellion demonstrate the major fault of the new government system?

5. A.  What did James Madison’s “Virginia Plan” call for?  

B. What would the membership in this plan be based on?

C. Why did delegates from smaller states object to this plan?
6. A.  What did William Patterson’s “New Jersey Plan” propose?

B.   How would the number of votes be divided in this plan?

7. A.  What was “The Great Compromise?”

B.  How was representation divided in the Senate, or the upper house?

C.  How was representation divided in the House of Representatives, or the lower house?

8. What were the three branches of government under the Constitution AND what were their roles?

9. Explain the main opposition point Antifederalists had with the new Constitution?

10. What was the promise made by Federalists to get the Antifederalists to ratify the Constitution?

11. Which 3 groups were excluded from the stated protection of rights and freedoms as mentioned in the Constitution and the Bill of Rights?

12. How many amendments have been added to the Constitution since its ratification over 235 years ago?
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ANSWERS:

1.
A set of laws called the Articles of Confederation.

2.
1. Each state functioned independently by pursuing its own interests rather than considering the nation as a whole.


2.  Government had no means of raising money or enforcing laws.


3.  No national court system to settle disputes.

3.
Increase in state taxes in Massachusetts (lack of strong central government is acceptable answer as well)

4.
States had placed severe limits on the national (federal) government that it was unable to solve national problems; proved to be ineffective

5.
A.  A 2-house legislature


B.  Based on each state’s population


C.  Larger states have more power

6.
A.  A single house Congress


B.  Each state had equal votes

7.
A.  A 2-house legislature


B.  Equal representation; 2 from each state


C.  Based on state’s population

8.
1.  Executive = carry out laws


2.  Legislative – make laws


3.  Judicial = interpret laws and settle disputes

9.
Contained no guarantee that the government would protect the rights of the people or of the states.

10.
To add a bill of rights

11.
Native Americans, slaves & women

12.
27

